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NoTE:— Answers may be written either in English or in Hindi; but the same medium should be
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used throughout the paper.
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The paper is divided into three Sections A, B and C. All questions from each Section should be

(b)

(2)

(b)

(b)

attempted together. All questions are compulsory.

Hﬁm%mﬁm/mm%wwﬁa&wé/
SecTiON A (T &)

Briefly discuss the distribution of the National Income to the factors of production.

T 39 &1 SARA & FRH ¥ faaw &t 9899 8§ fad=n S 5

Explain the Baumol Tobin cash management approach to demand for money.

TS F AT & AAS fod YHE TG IUNH H ARG KT | 10
Or (1==n)

What would happen in the economy at full employment if the level of investment
were to increase?

of e ) feafir F SreforoREn W SR A A BT W OWR 9 f WS

What are the different types of investment? Explain them.

e & fafie el @ € 7 ST ST SR | 10

Explain the derivation of the IS curve. What factors determine the slope of the IS
curve?

IS 5% & ST Ht AT A R Y F IS 5k &t o1l 1 FAuffa = €28

What is the impact of an increase in autonomous spending on the equilibrium level of
income and the rate of interest?
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| Or (31eran)
(a) In the context of the IS curve examine the effectiveness of fiscal policy in the
following:
(i)  Keynesian range (i)  Classical case.
IS 7% & Wadf # frafafaa & Tomta Hfifd % swesiaa | St ST
() FATET wWE (i) Tt F41 | 8

(b) What is Crowding Out? How can it be accommodated with a monetary expansion?
FIRET a3 =M B 2 27 sk FowaR & Wy g wiew R R s gw@ 22 7

SECTION B (W7 ®)
3. Given that:

fear T % o
C=200+0-8Y,
Y=Y Y
t=0-25
I1=700-50

- G=800
L=0-25Y-62-5i
M/p=500
Find :

(a) The equation of the IS curve

(b) The equation of the LM curve

(c) The equilibrium of the economy

(d) The effect of a change in ¢ from 0-25 to 0-375 on the equilibrium
(¢) The effect of a change in G from 800 to 1100 on the IS curve.
I ST

(a) IS o5k H GHIHOT

(b) LM o &t Gt

(c) T T HEH

(d) ¥ 0-25 9 0-375 7% UfEdT F Hqed W ¥9E
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G ¥ 800 ¥ 100 @ & Ufada o IS TsF YT M9E | 15

Or (31garn)

Given that:

fean man } faR—

C=100+0-75Y4
1=200~8;
G=150
T=0-2Y
L=0-4Y-2
M=800

P=2

Find:

(a)
(b)
(c)
(d)
(€)

The equation of the IS curve

The equation of the LM curve

The equilibrium of the economy

The effept of a change in money supply from 800 to 1200 on the LM curve

The effect of a change in G from 150 to 200 on the IS curve.

I HET

(a)
(b)

()

(d)
(e)

(2)

(b)

IS %% S WHIER

LM &% ) Fefte

sefeqere 1 WA

71 qfd & 800 § 1200 7% YR F LM % W A9

G ¥ 150 ¥ 200 T & GfEd & IS TF W ING | 15

Secrion C (AR T)

Derive the dynamic aggregate demand curve.

e GHE BT 956 T A R | 8

Explain ‘Gradualism’ and ‘Cold Turkey’ strategies to control inflation.
deufars’ 3R ‘Fiee @l WAl & whifa faEn @ avE F@ e S 7

Or (3gan)
Examine the effects of monetary expansion on the equilibrium output and the price
level in the short run, medium term and the long run. Comment on the neutrality of

money.
Turn over
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(b)

(b)

(a)

()

Note:

e

4

"o frfn W oAifss fawm & ol stewafy § nerm sefy ok defafy ¥ wiww
TR W Y& F A F | | 8

What is wait unemployment? What are its causes? 7

AU SUSTE AT 2 7 TP T FROT & 2

Discuss short run equilibrium level of nominal exchange rate and income level in the

Mundell-Fleming model in a small open economy. What are the underlying
assumptions?

Bt Geft srefogawn ¥ T fafma @ & srewmEfy dqed "R S ok qRa-wfiT

uied | g W S faaa ST | 39y N sifug s 27 10

Explain the concept of net capital outflow in a large open economy:

G Yot Aferaw § fad §St yarg F geweu | swen |t | 5
Or (3tgan)

Discuss the short run IS-LM model of a large open economy. What are the effects of
expansionary fiscal policy on exchange rate and net exports in a large open economy?

TR gt s % weqEty ISLM Wewr & freen Ffaw | St et
Ffeeen ¥ fawmeta uweety fifs & fafma R © sk faa fafa w s g

W2 5,5
Distinguish between nominal exchange rate and real exchange rate.
T faf R iR arafas fafma o & S| TR | 5

Kindly note that no diagrams are required for visually impaired and hearing impaired
and in lieu of Question No. 3, attempt the following question:

awvnam:ré’f#ar&rwg@#gafaaﬁzgv?m#mﬁaﬁwﬁaqﬁé#?sﬁzm
q&aT 3 F G ¥ [AEfdafEd 57 F Fwr g

6. Write short notes on the following:

(i)

LM Curve

(ii) Frictional unemployment

(iii) Fixed and Flexible exchange rates.
frafafes W wfya fewfral fafag
(i) LM =

(i) =& S

(iii) fer R oeielt fafma <X
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